M10x25 - Tks

MI12x1.25%35 - 12ks
MI12%30 - éks
MI12x70 - 2ks (A)
MI12x70 - 2ks (I)

M12x19 - dks (C)

M10 - Tks
M12 - Bks (A, 1]
M12 - &ks (C)

G

PPIC - Tks
PP12- 20ks (A, |)
PP12-22ks [C)

MI12x17 - 4ks

M12x20 (10.9)

110 Nimil

M12x1.25x35

iIC25001

konzola ndarazntka
bumper bracket

konzola ndraznika
bumper bracket

TOYOTA HILUX A
Kod: T0785(L.C) 11. 4. 2021




